you have array of characters with some spaces.. best way to take out only words..

input ==> a,a,b, , , c, , ,d,e

output ==> aabcde -- all spaces are removed..

best way to do?

 - manikesh.verma on July 16, 2012 in India 

Goldman Sachs Financial Software Developer 

11 Answers

What is the main use of interface ? Provide a real time example that shows it

 - Barney  on July 11, 2012 in United States 

Goldman Sachs Java 

4 Answers

What is the importance of overriding in java ? Give any real life example . How is it increasing the code reusability and robustness .? Cant we create new function instead of override ? What difference will it make ?

 - Barney  on July 11, 2012 in United States 

Goldman Sachs Java 

21 Answers

find a^b using optimal algorithm.... [ no use of inbuilt functions?

 - sachinism on June 16, 2012 in India 

Goldman Sachs Software Engineer / Developer Algorithm 

23 Answers

How to find consecutive elements such that they have maximum sum ??

-2 4 2 3 -12 5 9 -3 4

=> Max SUM = 15

index i =5 to 8

 - sachinism on June 16, 2012 in India 

Goldman Sachs Software Engineer / Developer Algorithm 

14 Answers

How to find 4 largest elements of an given array of length n. Best possible option ??

 - sachinism on June 16, 2012 in India 

Goldman Sachs Software Engineer / Developer Algorithm 

27 Answers

What is the next number in the series

2,4,8,16,24...

 - DashDash on May 12, 2012 in India 

Goldman Sachs Applications Developer Brain Teasers 

11 Answers

Write a Program

You have an array that stores million integers. you replace one integer of the array. How will you find that integer. Array is not sorted. Time complexity should be as small as possible.

 - axoaxo on March 19, 2012 in United States 

Goldman Sachs Software Engineer / Developer 

14 Answers

Write a Program

Reverse a String. Length of String is very long. Do not use in-built reverse method. Reversal method should be time efficient. Calculate the complexity.

 - axoaxo on March 19, 2012 in United States 

Goldman Sachs Software Engineer / Developer Java 

1 Answer

Write a Program

You will create an employee class with the following properties:ID (int), FName(string), LName(string). (Functionality) to track an employee's manager and subordinates. method that displays the names of all subordinates for a given employee.

 - axoaxo on March 19, 2012 in United States 

Goldman Sachs Software Engineer / Developer Java 

3 Answers

Why do you need Synchronization and how it works? Working of Implicit and explicit wait() and notify

 - axoaxo on March 16, 2012 in United States 

Goldman Sachs Software Engineer / Developer Java 

2 Answers

working of TCP/IP proctocol

 - axoaxo on March 16, 2012 in United States 

Goldman Sachs Software Engineer / Developer Networking / Web / Internet 

17 Answers

Count number of higher bits(1) in an integer alongwith its complexity? improvise it

 - axoaxo on March 16, 2012 in United States 

Goldman Sachs Software Engineer / Developer Coding 

4 Answers

static synchronized method 1()

{

 counter++;

}

synchronized method 2()

{

 counter++;

}

use only one counter variable to count the number of method calls to method 1 and method 2?

 - axoaxo on March 16, 2012 in United States 

Goldman Sachs Software Engineer / Developer Coding 

4 Answers

What is Height balanced tree ?

Difference between Red Black Tree and AVL Tree ?

 - lipun4u on November 22, 2011 in India 

Goldman Sachs Software Engineer / Developer Data Structures 

72 Answers

There are two arrays.

int arr1[5] = { 3, 5, 2, 5, 2}

int arr2[5] = { 2, 3, 5, 5, 2}

The arrays will be called similar if they contain same number of elements equally.

Write the pseudo code to check this ?

I was not allowed to use sorting and hashtable.

 - lipun4u on November 22, 2011 in India 

Goldman Sachs Software Engineer / Developer Algorithm 

7 Answers

How would you design a software like Microsoft Excel? Basically, the interviewer wanted to know how I would store the cells and the relationship between cells. For examples, let there be 4 cells, A1, B1, C1 and D1.

Let values of the cells be following:

A1 = 10

B1 = A1 + 3

C1 = A1 * 2

D1 = C1 + B1

In this case, how would I store relationship between cells and if I make a change in A1, how would that propagate to other cells.

 - newbie on August 18, 2011 

Goldman Sachs Software Engineer / Developer General Questions and Comments 

28 Answers

Find a point in an array where sum of left side array members(wrt to that point) and right side(wrt to that point) are equal..in other words equilibrium point.

 - thear on June 23, 2011 

Goldman Sachs Financial Software Developer 

19 Answers

define class such that you can make object of this class on a heap but not on the stack.

 - Anonymous on June 20, 2011 

Goldman Sachs Developer Program Engineer C++ 

26 Answers

define a class such that you can make object of this class but you can not inherit this class.

 - Anonymous on June 20, 2011 

Goldman Sachs Developer Program Engineer C++ 

15 Answers

Find the distance of a node from the root in a binary tree.Print error message if node doesn't exist.

Extend the problem to distance of any node to any other node that is below it.

 - Sneha Sharma on June 07, 2011 

Goldman Sachs Software Engineer / Developer Trees and Graphs 

4 Answers

Given a number display it in the seven segment display format.

 - DNS on May 23, 2011 

Goldman Sachs Software Engineer / Developer Java 

26 Answers

There is a class A which contains just one parameterized constructor A(int a).

How would you initialize an array of objects of this class.

 - Nupur on April 28, 2011 

Goldman Sachs Developer Program Engineer C++ 

2 Answers

What are the different types of cast in C++? Difference between static, dynamic, reinterpret cast.

 - Nupur on April 28, 2011 

Goldman Sachs Developer Program Engineer C++ 

18 Answers

There is an array a[10] which contains 1's and 0's. Write a program to have all 1's in the start of the array and then the 0's. 

The complexity should be O(n/2).

 - Nupur on April 28, 2011 

Goldman Sachs Developer Program Engineer Arrays 

7 Answers

Detect loop in a linked list. What is its complexity. Optimize it to O(n).

 - Nupur on April 28, 2011 

Goldman Sachs Developer Program Engineer Algorithm 

3 Answers

Difference between pointer and reference. Can a NULL pointer be used as a reference?

 - Nupur on April 28, 2011 

Goldman Sachs Developer Program Engineer C++ 

4 Answers

You have a Word Processor type Program. There are 2^16 fonts. Each font is associated with a 4MB geometric instruction set. This is written in a flat file.

Everytime a user selects a font this file is searched linearly. Develop a program to optimize the font search. (You could either add some functionality improvement in the word processor application while font selection or in the font search file).

 - Nupur on April 28, 2011 

Goldman Sachs Developer Program Engineer Algorithm 

17 Answers

void fun(int *p){ int v = 0; p=&v;v++;}

int main()

{

 int* p;

 fun(p);

}

what will be the output. One of the options was compiler error which is the right one as tested by me.
